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ESCALONAMENTO POR PRIORIDADES (CRÉDITOS) NO LINUX

Redistribuição Redistribuição

de Créditos de Créditos

PROC. T1 T2 T3 T4 T5 T6 T7 T8 T9 T10 T11 T12 T13 T14 T15 T16 T17 T18 T19 T20 Turnarround

A R1 B1 B1 B1 B1 P1 P1 R0 B2 B2 B2 B2 P2 P2 R1 T 15

B P2 R1 R0 B0 B0 B0 B0 B0 B2 P2 P2 P2 R1 R0 T 14

C P2 P2 P2 R1 R0 P0 P0 P0 R1 R0 P0 P0 P0 P0 P0 R1 R0 T 17

D P2 P2 P2 P2 P2 R1 R0 P0 P2 P2 R1 R0 P0 P0 P0 P2 P2 R1 R0 T 19

16,3

Fila de Prontos
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D D D

LEGENDA

R Rodando

P Pronto

B Bloqueado

T Terminado

1o. 

2o.

3o.
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